
parents’ signature and comment

2)  Reduce to lowest form

3)  Convert to improper 
fractions

4)  Convert to mixed numerals

5)  Simplify 6)  Simplify1
5 25a) =

3
4 24b) =

6
7 21c) =

1
3 12d) =

2
5 35e) =

1)

6
10

a) =

10
12

b) =

8
14

c) =

20
35

d) =

56
64

e) =

2
13a) =

6
35b) =

4
32c) =

7
22d) =

5
43e) =

13
3

a) =

16
4

b) =

31
8

c) =

51
5

d) =

42
7

e) =

1
2

4
7xa)

=

2
5

3
8xb)

=

2
3

6
7÷

2
3 x

a)

=

=

3
5

a) of  35

=
3
8

b) of  48

=
5
6

c) of  60

=
5
8

d) of  40

=
5
7

e) of  56

=
3
4

f) of  24

=
2
7

g) of  14

=

7)

2
7

2
5xc) 2 1

3
5

1
6xd) 3 1

2
5

3
4

xe) 2 1

1
4

3
5

xf) 3 1

1
3

5
8÷c) 3

21
4

2
5÷c) 1
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